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QUESTION 1

Refer to the exhibit.
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You are operating a converged network that is used to provide multiple types of services including VolP. You have
received multiple complaints that the call quality for some of the calls is poor. You determine that all calls with a reported
problem transit via one common link in the core. This link interconnects two CRS-1 core routers. The exhibit shows the
QoS configuration of the port on both CRS-1 routers.

What are the two most likely reasons for the problem? (Choose two.)

A. The bandwidth that is allocated in the QoS configuration is more than 100 percent and is probably causing the poor
VolIP service.

B. The VolIP traffic on the core link exceeds 1 Gb/s and is dropped by the policer.
C. The core link is congested due to VoD and IPTV traffic and is causing starvation to VolP traffic.

D. The VolIP traffic on this core link is MPLS-labeled and is not subject to QoS.

350-060 Practice Test | 350-060 Study Guide | 350-060 Exam Questions 215


https://www.pass4itsure.com/350-060.html
https://www.pass4itsure.com/350-060.html
https://www.pass4itsure.com/350-060.html

VCE & PDF https://www.pass4itsure.com/350-060.html
a 2022 Latest passditsure 350-060 PDF and VCE dumps Download
== / PassditSure.com

E. A DoS attack on the CRS has caused high CPU utilization on the line card that hosts the 10 Gigabit Ethernet-port.

Correct Answer: BD

QUESTION 2

According to ITIL?v3 framework, which type of warranty assurance provides a customer with a measured confidence
that services are supporting defined level of demand and quality?

A. security
B. availability
C. capacity
D. continuity
E. fulfillment

Correct Answer: C

QUESTION 3

Refer to the syslog message generated by a Cisco 10S device: *Mar 6 22:48:34.452 UTC. %LINEPROTO- 5-UPDOWN:
Line protocol on Interface LoopbackO, changed state to up. What does the special character (*) indicate?

A. Time stamp is synchronized by using NTP.

B. Time zone information is included with the message.

C. Syslog server is not configured to receive this message.
D. The message is a high-severity syslog message.

E. The message has been saved on the device syslog.

F. Identifies an incorrectly formatted syslog message.

Correct Answer: B

QUESTION 4

Several customers are complaining about slow network throughput when trying to access a company document
management system. This slow throughput is impacting business for these customers due to lost productivity. The
service desk followed normal procedures, was unable to resolve the problem, and escalated the trouble ticket to you,
the Tier 2 NOC engineer. You have done your own analysis and believe that you have found the root cause but are not
entirely certain.

Which three steps should you take to verify your resolution? (Choose three.)

A. Implement your fix at one location to verify that it fixes the problem.
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B. Determine what the expected throughput is compared to what is being observed.
C. Identify when the problem started and correlate to recent change activity.

D. Determine what specific locations have the problem.

E. Create a contingency plan in case your analysis is wrong.

Correct Answer: BCD

QUESTION 5

A Tier 2 ISP network provides Internet connectivity to residential and business customers. The Tier 2 ISP uses Internet
transit service from Tier 1 ISPs at different locations. Lately, the link utilization on a few core links of the Tier 2 ISP has
increased to unacceptable levels, while a significant part of the core network has low utilization. Which two of the
following methods should be used to alleviate this problem without deploying additional links? (Choose two.)

A. Change the IGP cost metrics in the core.

B. Use the BGP MED attribute to influence how Internet traffic exits the network to the Tier 1 ISPs.

C. Use the BGP local preference to influence how Internet traffic exits the network to the Tier 1 ISP.

D. Use QoS to rate-limit traffic.

E. Use the BGP AS prepend to influence how Internet traffic enters the network from the Tier 1 ISPs.

Correct Answer: AE
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